1.

DERLTI

159 K (B7— L ERIAZHER)

T1
NO. EFH B4 iz Ba | AFtEs | B

N PAE— 14-84

1 RE A RE FARE |z 7 21.08 6
6.24
. 16.10

2 EEKRI BEERE | Z—/4R 23.00 3
6.90
N . i 15.68

3 G N =EIRE T b 22.46 4
6.78
X 15.54

4 7 {ma s =FE8 oK 22.26 5
6.72
16.66

5 TTE KSR IR | =Z—/3A R 23.44 2
6.78
e R 16.94

6 [ &3l E/XRE (Ao K4 23.96 1
7.02

T2
NO. EBFZ B iz Ba BEER [=Kiva

15.26

1 5 BE EH/RE ok 21.86 5
6.60
N 15.12

2 BEiEEE =EFE -4 21.48 6
6.36
~r A 2 N 15.40

3 RO ED R | Z—/NA R 21.88 4
6.48
15.54

4 BTHZES FEE sy Ty 22.14 3
6.60
< X 15.82

5 BAERAY =IRE s T 7 578 22.60 2
16.52

6 EEThE BEE |&—/34 23.60 1




B2V F (5y®v 790 F) LEERBEA 2 - 31l 3 IRESA

T1
NO. BFZ B T Ba | AFtEs | B
_ 16.94
7 FER O HHEE |avavekean 24.08 1
7.14
15.52
8 EEKI B/ER |T—Fv 23.60 3
7.08
16.80
9 TTE KSR IR | 2—rx—y g 23.88 2
7.08
. 16.52
10 FEARINZE TIRE |Tvavikean 23.54 4
7.02
T2
NO. EFL B4 F 4 Ba | AEtEs | B
15.68
7 PBAGREE | BEHE |[z-r—Ursa 22.40 3
6.72
16.80
8 2T BER |77 23.94 1
7.14
. . . i 16.66
9 HRO ED R =T L > 23.80 2
7.14
TR 15.12
10 FIHZES MEHE | t—v> 21.60 4
6.48
RS
T2
NO. EBFL B4 4 Ba | AIESR| B
T1-%2 o 16.24
N R/ E/RE |Hvhy 23.20 2L
114 6.96
T2-552 / _ 16.80
; 2 Th BER |x—r—yurrd 24.00 1131
11z 7.20




3 iR E L

T1
NO. EFH B4 e B= | AFER| A
T1-22 15.96
. B K3 WWTBE  |ressror—sssm 22.80
2 i1 6.84
T2-%2 . 16.10
. | BARRHE | BEE T-Fv 23.00 3{u
3fI 6.90
3 LRTE B
T2
NO. EFH IS4 iz TR | AFER | B
T1-282 _ 16.52
o BEERI BER |—T—Lv 23.54
3fI 7.02
T2-%52 \ 16.66 N
L | EROED | LR |x-s-yred 23.68 3fiL
2 i1 7.02




2.

HEBFH

1S K (B7— L ERIAZHER)

T1

NO. EBF L B2 4 Ba | AEtiESa | B
. 14.84

1 HA EZz R |Z—/XA K 21.20 5
6.36
15.54

2 Al (E4R BEE |Trb 22.08 3
6.54
14.28

3 NG5 EHRE ok 512 20.40 6
16.66

4 HHE FEK EHE Tov 23.80 1
7.14
15.40

5 AZ E | AFE | Z—/1A7K 22.06 4
6.66
16.24

6 KE A NEE (v y 23.26 2
7.02

T2

NO. BFLZ B 4 BR | AEtEa | B
N B 14.98

1 EAKRK WE| aFE |[Fh7 648 21.46 6
15.54

2 e B | MEE (v Ty 22.14 5
6.60
. _ . 16.52

3 k@ K| | @BE | Z—/NAK 23.54 4
7.02
) 16.52

4 BiE @ | LEE |siurTr 23.60 3
7.08
17.08

5 EEE RN | FH/RE Tov 24.40 2
7.32
.+ . 17.22

6 B K SIHE | T T T 24.48 1




F277 8 (ZvFrrI00F) TALIEREEA~ 2 - 3401E 3MLREEA

T1
NO. EBFZ B2 ez Ba | AFtEs | B
16.52
7 KH A MEHEE |7—F> 23.72 3
7.20
17.50
8 WHE FiA TIE |Tvavegss L T 1 2494 1
7.44
16.66
9 HE B BEE |gvavykevay—— 1 2374 2
7.08
X — W 15.96
10 AR g | AFE |z—n—urf———+ 2280 4
6.84
T2
NO. BFL B iz BR | AFtEa | B
16.52
7 55 f#} | LEE |0 — 23.66 4
7.14
16.66
8 kB K@ | @BR |[N—T—-L> 23.80 3
7.14
16.80
9 BE K#t | BHE S—TF—Lv———— 2412 2
7.32
s 17.64
10 FEEE N | FHH/E |gvavshvanl——— 1 2514 1
7.50
TR P
T1
NO. EBF L B iz Ba | aFtEs | B
T1-22 . \ 17.36
U A B | BRE |(Hrhs ] 24.80 113
14z 7.44
T2-582 | 16.80
BB W BHRE |V R—  ——— 24.00 211
111 7.20




3R TE L

T1
NO. BEFH B4 o4 B | AEER| B
T1-%2 16.80
n FEE B RER |(HrAhv 24.12 3fi
2 i1 7.32
T2-%2 . . _ 16.10
o ik KEg BEE |srsvss—yrs- 23.06
3fL 6.96
3 REER
T1
NO. BEFH B4 fe4 B= | AFtER| A
T1-%2 16.80
PO km R | MEE - 2400 | 3fi
3fI 7.20
T2-82 - X 15.96
PE R | BEIE /N7 — 22.80
2 i1 6.84




3. BEXTIH

15 K (B7— IV ERAZHER)

T1
NO. BFL B 4 Ba | AEs | B
. 14.98
1 S8 kb BFE (VA 21.52 4
6.54
14.28
2 WiE B | BHRE [FrhY 20.34 5
6.06
15.40
3 kR EZE | LWER vt 21.88 3
6.48
16.38
4 BHE OLE | BBRE — /XA R 23.34 2
6.96
- \ 16.94
5 #HARA BEZ | BHE Tt 24.14 1
7.20
T2
NO. BFLZ 1= F4 Ba | &itiEs | B
\ 15.68
1 = ¥¥ | FHE ot 22.34 4
6.66
15.96
2 Big FEE | EFE |w—/4 22.86 3
6.90
16.66
3 B OOFXY | mHE Tt 23.74 1
7.08
L 16.24
4 kB ®=E | MEEB |rrE 23.20 2




B2V R (v R)

1 ALIERBEE A~ 2 - 3Ll 3RTEE A~

T1
NO. EBFZ B2 4 Ba HETER [[=Kiva
16.10
7 kB BR R |[Fvaverray 23.00 3
6.90
_ . . 17.64
8 BAR ZL EE Hrho 56 25.20 1
15.82
9 S8 Zl33| sFE |ov 22.60 4
6.78
_ 16.94
10 /@# /9\%—? *EDE»%L—% FRRINTI—YY T = 24.26 2
7.32
T2
NO. EBFZ B iz Ba BEER [[=Kiva
16.52
7 EEF O OOFEY | BRE |avavesray 23.60 1
7.08
16.24
8 5 XE | EFE |—T-Lv 23.14 2
6.90
. _ . 15.68
9 =B B¥ EHRE HrAho 22.46 4
6.78
o 15.68
10 kg =B | MRHEE |V XR— 22.52 3
6.84
RS
T2
NO. EBFZ B iz (Eg= Bt R [[=Kiva
T1-22 _ . 17.50
N AR =ZL BIERE |Tvaveavay 25.00 111
114z 7.50
T2-%2 | \ 17.22 .
L EE vEV | BEHE |Fvavsnsd 24.60 y4ivi
11z 7.38




3R TE L

T2

NO. BEFH B4 o B= | AFER| A
T1-%2 16.24

L BEH PR | BER |- T-Lv 23.20 3
21 6.96
T2-%2 m 15.82

o fEpk =B MHE |avavsrray 22.60

31 6.78
3 RLRTE K
T2

NO. BEFH B2 iz B | AFER| B
T1-52 15.96

n T ER g |\ Arho 22.74

3fI 6.78
T2-%2 w 16.10

T BB RE | 2FB |7—F> || 23.06 3fi
21 6.96

EHEARRAEE (2P’ RBRDD)

T2
NO. BFEZ B F 4 Ba | AEs | B
o R _ . 17.08 N
T1-301 | BHF AH 2EE N—T—L v 0 24.28 RTE
N 0 16.52
T2-301 | &5 FEE SFE |NK—-T—L v 02 23.54




4. BREBTIE

15 K (B7— IV ERAZHER)

T1
NO. EBF L B2 4 Ba | AEtiESa | B

T 14.84

1 FEE EE | MEE (v Ty 618 21.32 5
. - 15.68

2 =H B 8HRE (v T7 678 22.46 4
. . 16.24

3 INEE Bt BB Ty 5 90 23.14 3
. 16.24

4 s g | LER | Z—/XA R 23.20 2
6.96
17.36

5 EAR =T =EFE |[UF v 24.80 1
7.44

6 BIIR o BEE FiE
T2
NO. BFLZ B iz BR | AFtEa | B

. N 16.24

1 IKE Z] #FE8 |t 23.20 4
6.96
e _ . 17.08

2 1Bk | ORBE | Z—/AR 24.34 2
7.26
. 15.54

3 Mg dER | LR | Z—/SA R 22.26 5
6.72
17.50

4 R Z5 HFHE |k 24.94 1
7.44
- . . 16.94

5 =5 EK | BHE |t 24.20 3
7.26
. - 15.54

6 A JEX | *EBE |21 r7 7 22.26 5




F277 8 (ZvFrrI00F) TALIEREEA~ 2 - 3401E 3MLREEA

T1
NO. EBFZ B2 4 Ba BEER [[=Kiva
N \ 17.92
7 TEA Z=ETF EFE | IVarrRREA — 25.66 1
16.94
8 Mg g | LR |R-s-Ursdg 24.26 3
7.32
. 16.52
9 =l BTE| BHRE |[2—-Urxd 23.72 4
7.20
o \ 17.22
10 NG #EE1 EE 2=y vy 24.60 2
7.38
T2
NO. EBFZ B iz Ba BEER [[=Kiva
17.50
7 ] 4 Z5 EHE |v—-F>~ 25.00 1
7.50
< o L 16.66
8 K2 -] EFB |vrz— 23.80 4
7.14
17.50
9 kB % BER |[N—T-L> 24.88 2
7.38
o . . 17.22
10 =i EK EIHE |V x— 24.66 3
7.44
RS
T2
NO. EBFZ B iz (Eg= HEtE R [[=Kiva
T1-%2 18.06
N AR T =2FR |v—F~ 25.92 16
114z 7.86
T2-552 \ 17.92 N
L BRx #F | BRE |V R-— 25.66 2{u
111 7.74




3R TE L

T2
NO. EBFZ B2 4 Ba HETE R [[=Kiva
T1-282 N } . 17.22
N Bt | BEEE (-l 24.60 3Mu
2 i1 7.38
T2-%82 | . 17.08
=2 ;K TIRE |Svavyhvay 24.46
31z 7.38
3NLREE
T2
NO. BFZ B F4 Ba | AFEs | B
T1-552 . 17.08
N g g R |[(RX=T—=L 24.40
31z 7.32
T2-252 n . 17.64
N {ERE B3 BEE |svsvvss-vrs- 1 2520 3
2 i1 7.56

EFRFKATEE (MIOEREFHINEGETFR, BERXSHISEDD)

T2
NO. BFEZ B2 & Ba | AFtEs | B
o \ . 17.22
T1-37 | /B 24 | =iHE S—TF—L v o6 24.48
o B . 17.78 -
T2-3fi | 1EBE 3 BEE |NX—TF—L v s 25.40 RTE




